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QUESTION 1

Which three statements/commands would cause a transaction to end? (Choose three.) 

A. COMMIT 

B. SELECT 

C. CREATE 

D. ROLLBACK 

E. SAVEPOINT 

Correct Answer: ACD 

 

QUESTION 2

Examine the data in the CUSTOMERS table: 

You want to list all cities that have more than one customer along with the customer details. Evaluate the following
query: 

SQL>SELECT c1.custname, c1.city FROM Customers c1 __________________ Customers c2 ON (c1.city=c2.city
AND c1.custnamec2.custname); 

Which two JOIN options can be used in the blank in the above query to give the correct output? (Choose two.) 

A. JOIN 

B. NATURAL JOIN 

C. LEFT OUTER JOIN 

D. FULL OUTER JOIN 

E. RIGHT OUTER JOIN 

Correct Answer: AE 

 

QUESTION 3
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You work as a database administrator at ABC.com. You study the exhibit carefully. 

Exhibit 

Using the PROMOTIONS table, you need to display the names of all promos done after January 1, 2001 starting with
the latest promo. Which query would give the required result? (Choose all that apply.) 

A. SELECT promo_name,promo_begin_date FROM promotions WHERE promo_begin_date > \\'01-JAN-01\\' ORDER
BY 1 DESC; 

B. SELECT promo_name,promo_begin_date "START DATE" FROM promotions WHERE promo_begin_date >
\\'01-JAN-01\\' ORDER BY "START DATE" DESC; 

C. SELECT promo_name,promo_begin_date FROM promotions WHERE promo_begin_date > \\'01-JAN-01\\' ORDER
BY 2 DESC; 

D. SELECT promo_name,promo_begin_date FROM promotions WHERE promo_begin_date > \\'01-JAN-01\\' ORDER
BY promo_name DESC; 

Correct Answer: BC 

 

QUESTION 4

See the Exhibits and examine the structures of PRODUCTS, SALES and CUSTOMERS table: 
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You issue the following query: 

Which statement is true regarding the outcome of this query? 

A. It produces an error because the NATURAL join can be used only with two tables 

B. It produces an error because a column used in the NATURAL join cannot have a qualifier 

C. It produces an error because all columns used in the NATURAL join should have a qualifier 

D. It executes successfully 

Correct Answer: B 

Creating Joins with the USING Clause Natural joins use all columns with matching names and data types to join the
tables. The USING clause can be used to specify only those columns that should be used for an equijoin. The Natural
JOIN USING Clause The format of the syntax for the natural JOIN USING clause is as follows: SELECT table1.column,
table2.column FROM table1 JOIN table2 USING (join_column1, join_column2...); 
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While the pure natural join contains the NATURAL keyword in its syntax, the JOIN...USING syntax does not. 

An error is raised if the keywords NATURAL and USING occur in the same join clause. The JOIN...USING clause allows
one or more equijoin columns to be explicitly specified in brackets after the USING keyword. This avoids the 

shortcomings associated with the pure natural join. Many situations demand that tables be joined only on certain
columns, and this format caters to this requirement. 

 

QUESTION 5

Which two statements are true regarding savepoints? (Choose two.) 

A. Savepoints are effective only for COMMIT. 

B. Savepoints may be used to ROLLBACK. 

C. Savepoints can be used for only DML statements. 

D. Savepoints are effective for both COMMIT and ROLLBACK. 

E. Savepoints can be used for both DML and DDL statements. 

Correct Answer: BC 
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